- AL T g
1. In which of the following years was 1. ﬁ‘:::f ﬁwﬁm"ﬂ By,
Kurukshetra University established? B
[A] 1956 A 1956
[B] 1966 [B] 1966
C] 1947
[C] 1947 €]
[D] 1989
[D] 1989
[E] 3rwfEa
[E] Unattempted
2. Which is the second largest site 2. m-&;m” b “Iwm?ﬂh._ﬁl
of  Harappan civilization  after -7 R?
Mohenjodaro?
[A) =T
[A] Banawali .
ciyr Elxm
[B] Rakhigarhi 48T m
[C] Dakshakheda [C] =a@w
[D] Mittathal [D] forener
[E] Unattempted E] aanfa
3. :::eni:?;i:nts relgtings to accidenta:. 3. g¥email A dafua wonsii = 3P4, It am
vy :::n under Section o aRfm B we 3 fea v )
(A] 190(2) 1 190(2)
(B] 191 B] 191
Cl] 179
€] 179(2) (C] (2)
[D] 187
(D) 187
E
[E] Unattempted [E)  smwnfeq
4. List the types of documents used in 4. T e =) ‘“‘ﬁ"!ﬂ HA wwa, RTO
RTO office while registering a vehicle. i e e LA |
[A] Marital certificate [A) Aanfeas sy vy
[B] Passport B)] e

[C] Forms 20-22A of CMV rules €1 cMv frami 3 v 20-22A

[D] None of the above D] 37w 5 a e T

[E] Unattempted B snnfas
T-5/5-C
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5.

™ s

The full form of LMV is
1A Light Motor Vehicle
[B] Low Motor Vehicle
[C] Light Meter Vehicle
[D] None of the above

[E] Unattempted

Road safety involves
[A] the design of roads and highways

[B] laws pertaining to traffic and
vehicles

[C] systems of traffic safety and
control

(D] All of the above

[E] Unattempted

Pedestrians should always cross the
road using crossing.

[A] zebra

[B] side road

[C] main road

[D] footpath

[E] Unattempted

In order to improve the learning of
children admitted in the appropriate

age classes and bring them to'the
level of their classmates, there 1s a

provision of

[A] remedial teaching
B] special training

'C] multi-grade teaching
‘D] All of the above

T Unattempted

S.

LMV &1 gl & 2

YA} Light Motor Vehicle
[B] Low Motor Vehicle
[C] Light Meter Vehicle

D) SEwE AW g

[E] swafaa EJ%

aF glan § mive /2

[A] @St va@ Temm @ fewms
[B] 2if%s wd argw wa fram
[C] iM% guen wd Fraon worferal
1B 3 wi

[E] swafia

YeaEl w wEe _ wiEm % OWEm
HSH TN FE TR0

AT

(B] urdadi wgw

IC] 71885

iD] g™

E] snrfea

Fuges g 1 3 el A=Al & A H FER H

3R I I wEfedl % 'R O @l & few
BICDIC R

[A] IwERE g
(B] favm afogo

(C] wedi-ue foam &
0 Iwdw &

(£} srynfea
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0 % & "reaTaRey
9. What will be the age of Early 9. NEP 20; ﬁrqfnm o U fy,
Childhood Care and Education (ECCE) -
(ECCE) in NEP 20207 W -6l
A] 3-6 years
(A] y B 2-6 ik
[B] 2-6 years
[c] 4-7d
[C] 4-7 years
EL]
[D] 3-8 years D] 3-8
[E] Unattempted . [E] 3marfem
10. In a School Management Committee 10. G ¥pa wauq wiufa o arafas :ﬂﬁm;aw -
(SMC), the % of the actual parents will +9 8 %9 vfavwm mivs 2m
comprise of at least
[A] 50 [A] SO
D)0]
(B] 75 m B] 75
[C] 85 €] 85
[D] None of the above [D] 39w 3 @ +1 =
[E] Unattempted [E] swafa
11. The number of working days in an 11. W?ﬂ?%fﬁqwﬂmﬁmai o s
academic year for class-3 are 3 H R Tewn 1
[A] 225
B) [A] 225
B] 250
Bl 250
[C] 200
IC] 200
[D] 220
[D] 220
[E] Unattempted
[E]  3mrnfy
12, According to “, g
? » Teaching j . "
oun of ‘nterpersonal inﬂuencegajllie: 2 __% SO, faw, gremfiss e o @
2:1?:11&: s e behaviour Potentia] of 9 2 R R ol 3 wifr ) 2
I person, T R Fee 3
[A] B.D. Sm;j
i Al e, o
t qqo qa
iC] H. C. Mm—rison . 'Pﬁl
(D] Edmung Freud €] =, o Bt
IE] Unattempted ID] ngmg
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13. According to the recommendations of

1‘-

15.

NCF 2005, technology could be
integrated

|[A] with  the larger goals and
processes of Educational
Programmes

[B] with revisions to meet current

developmental policies of the
Central Government
[C}] as an add-on
educational goals

to the main

(D]

used only judiciously subject to
the economic and social goals of
a community

[E] Unattempted

Which of the following is an example of
a formative assessment?

[A] A final exam at the end of the
semester

[B] A pop quiz given at the beginning
of class

[C] A student-led presentation on a
topic

[D] A standardized test administered by
the State

[E] Unattempted

The current 10+2 school curniculum is
to be replaced by a new

[A] 5+343+4 curricular structure

B] 2+3+3+4 curricular structure

[C] 5+#443+3 curricular structure

ID] 5+2+2+4 curricular structure

1 Unattempted

T5/5C

s S —
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S
& 15.

13'

14,

OO

NCF 2005, & yqwsi 1 sgan il
® v fem @ e R

|A] Pufors FrtE & v @ va ghEm
& |y

(B] = wwn € vive faemres Afr
# @ w1 & fo @nvEl & A

1) Fon Ryt el & Ama O & =0 A

(D] Frdlt wgzra & sufdw st wmwfas we
& i frdel Atk @ swm 7

(E] warfem

frafafaa § & ¥R-7, @S THH &
& 3 k7

[A] ®2 (o) & i & srad oha

[B] & & wrym § § nf ow of famay
wwrad

je) o fam @ o w1 smad A vy
D) o= zm wfim o wEdea sl
[E] wwanfaa

TR 10+2 B TAHEN F @& T R 0
0 QISUEN "SI

[A] 5+3+3+4 % gm
[B] 243+3+4 & Zm
[C] 5+4+3+3 & Zm
HO] 5424244 & gm

(E) swafaa




16.

Teaching’ word is derived from which
word?

[A] Thought

[B] To Teach

[C] Trench

[D] None of the above
[E] Unattempted

17. The minimum number of working

18.

19.

hours per week for a teacher is
|A] S0

(B] 42
[C] 45
[D] 40
[E] Unattempted

Which Section of the Right of Children
to Free and Compulsory Education
Act, 2009 deals with the duties of
local authority?

[A] Section 12 of the Right of
Children to Free and Compulsory
Education Act 2009

Section 9 of the Right of Children
to Free and Compulsory
Education Act 2009

Section 14 of the Right of
Children to Free and Compulsory
Education Act 2009

Section 20 of the Right of
Children to Free and Compulsory
Education Act 2009

[E] Unattempted

(8]

(]

(D]

Teaching is the profession of those

who give instruction especially in a/
an

|A] Elementary level
|B] Secondary level
[C] University level
[D] All of the above
[E] Unattempted

T-5/5C

16.

17.

19,

L0 gy
g’ 7 frm v @ o B Ry

A faem

B WA ¥Rm

[l 32

(D] Fogw 4 4 w§ T
[E] svwfed

s o 35 o T < R 2 R
[A] 50

(B] 42
[C] 45

{1 40
[E] vafia

= @ R @ afad e s,
2009 € -1 um, vy witem & wha
Awafm R?

[A] wsEl R yes vd e e sfufes,
2009 # um 12

1B) w1 . e wrard fvn s,
2009 # um 9

[C] w=il ) 9w va wfyard fran wivfm,
2009 & umn 14

[D) &= i fi.5ew vd wifvard faen R,
2009 § wm 20

[E] Iwarfa

fmg 31 il @ Gon £ S Pty wn @ AR AR
[A] wrafes = w

(B] wafis ww o

[C] fawafmmer wnw

0] v mh

[E] Fwarfag
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20. What is the difference between an
impairment and a disability?

[A] An impairment is a physical or
mcnt:?l condition, while
disability is a social construct

[B] An impairment is a temporary

condition, while disability is
permanent

[C] An  impairment affects an
individual’s  daily  activities,

while disability does not

[D] An impairment is caused by
external factors, while disability
is caused by internal factors

[E] Unattempted

21. What are the three dimensions of
mental health that schools should
address?

|[A] Curative, preventive and promotive
[B] Academic, social and emotional

[C] Physical, cognitive and emotional
[D] Reactive, proactive and supportive

[E] Unattempted

22. Which of the following is an example

of a curative intervention for mental

health?

[A] Providing students with
ical exercise

opportunities for phys
[B] Implementing Positirc behaviour
support strategics

individual or group

[C] Offering
therapy

[D] Educating students on mental

health awareness

[E] Unattempted

T5/5.C
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20. UF AR TE FEEAA & qO F A A7

[A] wifrm v it g wEiEE Fal
R, wafs symwdm v wrfas @0E R

Bt Wi vs swdr yaen R, @i
waRds = 2

[C] wfwm vw =fe & dwama /2R
rfafafirdt %t wnfam w2 2, Fafn smwdm
71w R

(D] wfwm g Fwwt ) T9E & A R,
FAfE ARG AAE FH & FOA

[E] swariaa

21, wHEE @ F #a-3 4 s § R o
=1 wafua s afew?

[A] s, Fus vd dees
[B] #ufor, vrmifaEw v wiEEwEEE
[C] i, FmaTEE T NEEEE
4p) whafwardia, sf o aoes
[E] swafa

[ﬂgﬁx’ frsfafaa 8 4 #-0 s m@ea & foae
oty U ITANIES FEALT F I R?
reh

(A] ©El w1 Wi smam & HaE gwE E

[B] wFMEF aEn wwds wHifadl w @
F1

[C] =fmm o wp fafesn € o w0

-{j] nRfaF mrea SrEEa w g ) T
+TT

[E] wwafed

| 2.T.0.
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23. Most abundant component of air is 23. ‘ﬂfﬂ‘nmhﬂﬂm ”

[A] oxygen [A] wietE

[B] hydrogen (B] ®rggraa

[C] argon ] A

[D] nitrogen 21 B T

[E] Unattempted ) siifie
s i 8| 30, g e s

exist, is called gofta yofi e €, wEe By

[A] thermosphere [A] uTg agEEE

[B] mesosphere (B] ww AT

[C) stratosphere C] wwam wEA

(D] troposphere 21 sz

[E] Unattempted E) s

25. Which of the following can be, threat . A
to the biodiversity of a geographical 25. Refefen 33 @\, iifers da ) a fafaen

area? & fom wmn & w22
l. Global warming R} dma afin
Il. Fragmentation of habitat . 1. yam @ g

lil. Invasion of alien species

. fageh wafart @ angam

IV. Promotion of vegetarianism IV. &R & van

Sclect the correct answer using the

codes given below - 3 fo, TR @ A W W gf-m_ .
Codes : ®:
[A] 1, 1l and 11 AL shen
IB] 11 and 11 (B) 1 st
IC] 1and IV [C] 13 v
D] All of the above D] i af
lE] Unattempted [E] swafaa

26. According to the Paris _lematc 26. uira A BN B yIEn wrag @) Afaq,
Agreement, humans should limit the - A UM PN :
global temperature rise well below TR 71z A fema 4 e wh e -
Al 5 degree Celsius ¥ 5 ferh ifiaen
Bl 4 degree Celsius B 4 Pt frun
ICl 3 degree Celsius [C] 3 feh &hwas

DI 2 depree Celsius

D] 2 fuh afiwey

Bl Unattempted [E] Hwafna

T-5/58C 8
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27. Which of the followin

30.

B cities was the

[D] London

[E] Unattempted

To know w!mt climate was like in the
far past, scientists most often use

[A] thermometer readings

fi
lhOUMds of years ago .

[B] natural records such as tree
rngs and ice cores
[C] computer models of the past

[D] written records from thousands of
years ago

[E] Unattempted

More than 70% of world’s fresh water
is contained in

|A] Polar ice

[B] Greenland

[C] Antarctica

[D] Glaciers and Mountains

[E] Unattempted

The temperature range in which most

organisms perform their biological
activities is called

[A] bio-kinetic zone
[B] biotic temperature
iC] adiabatic temperature
D] polytropic process

[E] Unattempted

5/5.C

27.

Frofafes § A fen mom 3 a6l wa s
wR $ yoreh A wan @7

(A] v

(B] =me

) tfw

[D] &&=

[E] s

g e 6 ey & f T3 & fom
e i s fovm wam w0 §7
[A] wami /v sxA for ma awtiier g
1] s foetd 48 T3 & v ot v 2
[C] ¥da & st whem

[D] ward vl w fafa foetd

[E] srwafea
:mwm%ﬁmm-m__imma
|

) g

(B] Hreive

[C) el

[D] =frm 3w da

€] s

. ax AowA &, P aftem e o s

nfafafiat w &, wwemm 2
(A] ¥ wgfew &
8] Ffas aw=

[C] fetrs AR

D] wiefgiiw shem
[E] snwafem

{P.T.O.
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31. Development of soil from parent rock 31, & EH & fught @1 fawre wEeT LS

is termed as
(A] s TS
[A] Edaphic factor
- e
[B] Pedogenesis
[C] Edaphotropism [C] F@ad (Edaphotropism)
[D] Edaphic climax (D] wdfs T
[E] Unattempted [E] Iwnfea
32. What is the disadvantage of non- 32, h-adiwia 391 | 6 ol w@m e
rencwable energy sources?
K Hifia sveram
[A] Limited availability
B| wen ¥k wgm
[B] Cheap and abundant ?];AE] (]
[€] Environmentally friendly [/ [C] vt & Fge
ID] Low greenhouse gas (D] WeEa fe w1 @5 I
[E] Unattempted [E] srwarfea
33. Which country is known as the *Land 33. R 2n # “wam diell @y & w98
of Thousand Lakes"? T 27
IA] Finland |“l m
!B] Ireland IB! m
IC] Iceland () s
[D] New Zealand W) =phde
[E] Unattempted [E] wafea

34. Which poet (author) has called Sahibe
Diwan, the tea collector in Haryana,

34, ¥R A W w3 T i A a)

as ‘Musahib'? Fon wfa () 3 geit’ s 47
[A] Tulsidas (A] gewieE

(B Surdas (B] wwm

[C] Amir Khusro T i wad

[D] Mir D]

[E] Unattempted E] s

T-5/5-C 10
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35. Match List—I ang List—y .

List—I

List—q]
l'a‘l Rao Tula Ram ‘.) Ahirw al
Sadruddin "

c) Nawab Ahmed Ali (i) Meyay
(d) Birasat Ali fiv) Kharkhoda
Select the correct apg
code given below :

(Al (@)-{id), (bf-fiv), (c)-g), (d)- i)
(B (a)(iti), (b)-fi), (c)-ii), (d)-fiv)
[l @F6). (o) Giii), (c)i), (d)fiv)
O] (a)-Gii). (B}G), fck(iv), (dp i)
[E] Unattempted

wer USing the

36. Which name has been given after

changing the name of State Vigilance
Bureau in Haryana?

|A] Anti-Theft Bureau
B] Anti-Corruption Bureau

te OF)
[C] Anti-Drugs Bureau m&%
[D] Anti-Defence Burecau (ORAS
[E] Unattempted

37. Which medal did Aman Sehrawat win
at the Zagreb Open Wrestling
Championship?

[A] Gold medal
[B] Silver medal
[C] Bronze medal
ID] All of the above
[E] Unattempted

38. When did ‘Swachh Haryana = Swachh
Bharat Abhiyan'start?

[A] 1st November, 2014
(B] 1st December, 2014
[C] 1st October, 2014
ID] 1st September, 2014
] Unattempted

11

1-5/8.C

35, Well—I vd gei—I1 & gafaa o3 .
a1 qeh—I1
(a) T FEATR (i) Fwaa
(b) TR (i) wEETR
(c) 7T 3emz w Vi) A
(d) Fema e fiv) s
13 fw g2 ) woem & wh IwOE

IA] fa}-fidi), (by(iv), (c)f), (d)-fii)
[B] fa)fiii), (b}-fi), (c) (1), (d)-(iv)
[} fa)fi), (b (i), (c)fid), (dfiv)
(D] fa)-ii), (b)), (c)(iv), (d)-fii)
[E] sufas
36. wfwmm 1 ‘w2 fafvdn o' w1 9® wEe ®
fom o &7
(A] w-gw
18] - =
[C) w-gm e
[D) GA-fedmem
[E] swafsa
37. W BEUEd 3 Wit ¥iE whEm e
# @3- 9gs 7
|A] = w5
[B] WA W%
€] T s

[D] I @i

38. ‘s W - w WA WRgR ) yEs

1] 17, 2014
(B] 1 Ra=g, 2014
[C] 1 3R, 2014
D] 1 fmr, 2014
[E] swfaa

| P.T.O.
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In which month, the festival of

CIERE TRy

G 39, worit & iR @R wm 7 g ww@ ke
angour is celebrated? ;
[A] January-February |A] ‘
[B] March-April (B] wrE-sld
[C] May-June €] W
D) June-July
[E] Unattempted ] T'-W
40. Which State is situated to the South of H
Haryana? 40. ¥ & o & W7 T o
[A] UttarPradesh 1Al T 3
[B] Rajasthan
[C] Punjab ' 2] :_ |
[D] Gujarat b o
[E] Unattempted (D) T+ua
syaTaa
41. In which of the following districts of =
Haryana, Chinkara Breeding Centre | @ fi= & @ i & fom Prd &, e yom
is located? = Rnt
|[A] Sirsa FlO)
[B] Karnal % A1 form
[C] Ambala o [B] w=ra
IDI Bhiwani [€] ATHTE]
[E] Unattempted (D] frar
42. Match List—I and List—II : [E] e
List—I List—IT
fa) Shri Manohar Lal  fij Minister of 42, 1 va gh—I1 %) wifer @i -
Health A1 ]
) Dushyant fir) Minister of ' 'II
Chautala Excise & (a) *R v FA. () wmea v
Taxation (b) T Aeren | (i) IR A vd
fc) Anil Vij (iti) Mimister of AU T
Finance ;
s fra ; "
(d) Kamlesh Dhanda  fiv) Minister of (cl - fi) fam s
Woman & Child (d) ®&5EA e fiv) ufesn vq @i
Develapment Faqro) w
Select the correct answer using the s : __
aode given below AR & wwwm 4w am
[ v RIve ciow
(AL fa)-fiiih (b3 (i), f)G). (clF o) ¥ fa)a), fol-f. (cl0). (d)-fv)
B} fa)-(i) BEA), {c}-(n). (d}-fiv) (B] (a)-nei), (i), (c) ). td) 1)
(] (akfi) toFtai). (c)-fiil {d)fiv) | (apti) ki), ()i e} frv)
D) fak{ik (B)-11) (e} (i), (d} i) (D] fa)fu), (b} 1), (c} (1v), (d}f)
(£} Unattempted [E] suafaa
T-5/5.C 12
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_ The Chairman of the Stat : . .
#: cervice Comemission 1y s bl | 43, s i e

o (A] wgafa

[A) President

B) Prime Minister T
c] Chief Minister (€] Fw
D] Governor o] T=E
[E] Unattempted E] swafaa

44, In which of the following districts of 44, fi3 | 2w & 68 @ 8w q e

Equines is located?

iA] Kurukshetra A] 3=
[B] Panipat (B] rtva
[C] Rohtak c] T
[D] Hisar By femm
[E] Unattempted [E] waftm

5. Where will the world’s largest Herbal
Park be established? 48. fam & T wda O vyl @ e wm?

[A] Morni A s
[B] Pinjore B) fiah

[C] Churpur c) T

[D] None of the above R3] (D] 3%® A & =g A
[E] Unattempted :ﬁ E () wiEa

%, Who was the frst Sufi Saint of 46, ¥ § vaa g &= 2R 2
Haryana?

|A] i
{A] Shekh Farid *E
[B] Shekh Usman X
[C] ELIG
€] Shekh Jamal . ;
D] @ e
Dl Shekh Muhammad Turk
[E] wwaifea
[£] Unattempted PT.0

- 13
3 5C
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47. In Haryana, which department has

49.

launched the ‘Integrated Health
Information Platform’ portal?

|[A] Finance Department

[B] Central Mental Department
[C] NITI Aayog

[D] Health Department

[E] Unattempted

Haryana  Mukhyamantri  Parivar

Samriddhi Yojana (MMPSY), 2023
[A] provides financial assistance of

26,000 per annum

[B] provides a loan upto €60,000 at
5% interest rate per annum to SC
families

[C] provides interest free home loans
to EWS and abandoned/
orphaned children

[D] None of the above

[E] Unattempted

Under Haryana Government Welfare
Scheme, Rewari is

(Al
[B]
(C]
(D]

home for aged and destitute
home for orphans
home for widows

home for victims of domestic
violence

[E] Unattempted

The description of which city is found
in the tdtle ‘Nakula Digvijayam’ of
Mahabharata?

(A]
(B]
[C]
D]

(€]

Sirsa
Fatchabad
Narnaul
Rohtak

Unattempted

T-5/5-C

47.

48.

50.

PR UL AR TR

i & fem fm 3 ‘whiga mER g,
T e I e k2

[A] fam fasm

(B] ¥ wrafas favm

[c] Hifa s

o] T finm

[E] swarfaa

wfaron g fan #fe A (MMPSY),
2023

JA1 26,000 sfa & wfds wema wem
o b

[B] qfaa wfwdl % ofand # 5% @fts
oA 2 A ¥6,000 9% H B/ WIE T
[

[C] wfdw w9 & wwin vd wiewe 01 aEm
TS F AIE HEAH T TER

(D] 37 & & Fé =
E] wwarfaa

A JE & we G $ TR e R

B] st & faw fam

[C] faumsi % forn fam

(D] Wt fiwn 3 fareem & ifyat % oo fram
[E] swafia

WEDTE & “TFe Rfawan vivks i frn v
TR ww B 7

[A] faen

(B] wagrr

C] Tt

O] e

[E] swarfea
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R
tion (Q. Nos. 51-83) : Iy cach sentence

whic
pick
the¢

51.

52.

-

5:5'C

pelo
h

w, there are two blank s

sentence, SOMe pairs of wg::’c:s. s
h are numbered [A], [B), (C), [D] and (E
out the MOSL appropriate pair to rll 'l*
planks in the same order, 1o m&kcI %
scnw""c meaningfully complete - the

are given

an of us w i
Many ho rational-emotive

therapy are
depressed. tense, angry or

[A] seck, often

(B] follow, scarcely

(€] perform, usually
|1 practice, frequently

[E] Unattempted
wlD
Education is to the cconomic[;]nci -
social fabric of the nation, but that
few political parties have made it an

election issue.

|A] eminent, barnng

(B] concomitant, instead of
[C] basic, despite

[D] rudimentary. besides

[E] Unattempted

and development in our

Disarmament

time are intcrrclmcd but
development will depend on gchangc
in the world’s poliu'cal thinking.

(A] inevitably. substantial
8] closely, real
IC] essentially, truc
[D| naturally. final

[E) Unattempted

15

Direction (Q. Nos. 54 and 55) : In the
following question, there are blanks each of
which has been numbered. These numbers
are printed below the sentence and against
cach, some words are suggested, one of which
fits the blank appropriately. Find out the
appropriate words.

Scientific psychology recognises & simple
truth that no two individuals are alike in this
world even though equality is a fostered
norm of civil society, the truth is that men

~_(54) _ unequal in (55)
hues or degrees. =t

54. [A] will {B) are
[C] 1s [D] was
[E] Unattempted

§5. [A] high (B] total
[C] no 4] varying
[E] Unattempted

Direction {Q. Nos. 56-58) : In each of the
following questions, out of the given
group of words, choose the mis-spelt

one.
56. \|A] Coucurence
[B] Conscience
[C) Commodore
[D] Circumference

[E) Unattempted

57. 1Af Shrubery [B] Senescent

(C] Slaughter
1) Unattempted

[D} Sneer

58. |A] Ostracism [B] Obnoxious

ij" Oblitrate (D] Obligatory
[E} Unattempted

[PT.O
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Direction (Q. Nos. 59-61) : In each of the
following questions, find out which part of
the sentence has an error. The error may be

idiomatic or grammatical. If the sentence is
correct, the answer is ‘No error’ :

59. He l-mou; ;rery well

expected from him ; but he is not
18]

able to fulfil all the expectations. /
C]

what is

No error / Unattempted
(D] (E]

0 Itis the duty of every right thinking

citizen / to try to make the whole
Al

world / a happier place to live.
(B] (C]

No error / Unattempted
D] [E]

61

The doctor referred / the patient for

(A
the O.P.D. without examining
18] '
him.  No error Unattempted
) 7 [pop [E]
T.5/5C
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Direction (Q. Nos. 62 and 63) : In cach
the following questions, some SeNteNces ure
given which are on the same theme. Decige
which sentence is the most preferable with
respect to grammar, meani_ng anq usage,
suitable for a formal writing in English :

62. [A] The teaching staff must take their
lectures regularly when are asked
by the Principal.

The teaching stafl had taken the
lectures regularly had they known
that the Principal would come to
know about it.

[C] The teaching staff would have
taken lectures regularly had they
known that the Principal would
know about it,

[D} Many irregularities were found in
their lectures by the Principal and
he could not be disregarded them.

[E] Unattempted

63. |A] By June next year, Ajay will be
twenty years working in the office.

(B BFi:1g Itwcnt}' years completed,
Ajay will be working in this office
till June next.

[T} Till June 1.2xt year, Ajay will work
in the office for twenty years.

o7

By June next year, Ajay will have
been working in the office for
twenty vears,

[El Unattempted



gy

on (Q. !Io:. 64-66) : In cach of the
jowing questions, there are six sentences

mAr

c.’,gost

o S qut of the perishable foods are
shipped by refrigerator ships.

P. They are placed in the refi
hold of the ship, T e

Q. So'mc foods, such as bananas, are
shipped before they get ripe,

R, As the green bananas are loaded.
man closely watches the signs
of yellow on them.

S. The rool temperatures keep the
bananas from getting ripe during
the trip.

56‘ Ripe bananas are poor travellers
and even one ripe banana at the
start of the trip can spoil a whole
ship load of fruit. . ‘iig]

ikl
e,

[A] PQRS

(Bl PSOR

jer QPSR

D] SRPQ

[E] Unattempted

h 515.C

kedas S, 8¢, P, Q, R, S. The positions of

and S ar;'hlxc;_i. You are required to
one of the four alterpgy; i

be the most logical s s

‘:;’wnccs in the passage :

tqQuence of the

65. S,.

(Al
B
(€]
[D]

(E]

A transformation of conscious-
ness is now beginning to express
itself in the field of theoretical
architecture.

In the still theoretical structure,
an attempt is being made to create
a house that is “a domestication of
an ecosystem”.

What is happening in the
architecture is a shift from the
international style of the post-
industrial era to a symbolic
structure.

Since architecture is the
collective unconscious made
visible, the architect does not
himself always understand the
full cultural implications of his
own work

The new form is not a celebration
of power over new materials, but a
celebration of cooperation with the
ecosystem.

The relationship between culture
and nature is changed, for the
architect grows a house like a
garden.

PRSQ

QPSR

RQSP

SQRP

Unattempted

|P.T.O.
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[A]

(B]

{€]

(D]

£l

T-5/5C

Forecasting the weather has
always been a difficult business.

During a period of drought,
streams and rivers dried up, the
cattle died from thirst and the
crops were ruined.

Many different things affect the
weather and we have to study
them carefully to make an
accurate forecast,

Ancient Egyptians had no need of
this— weather in the Nile valley
hardly ever changes.

In early times, when there were no
instruments, such as
thermometer or the barometer,
man looked for tell-tale signs in
the sky.

He made his forecasts by watching
flights of the birds or the way
smoke rose from fire.

PRQS

QPRS

QRPS

SPQR

Unattempted

§ TR TRFT
1E

67.

ClZ|O|=|mix|x|0lxz|E<|®
X|O|X|w|2Z<|O|= 2| =% <
NAN=<®O| T = R<@

Find the correct word which can be
made out of the above.

|A] SQVIRREL
[B] ANEMONNE
{Ct PHENOMENON
[D] DAZZLE
& ’Am |E] Unattempted
t o‘:
@Bﬁ!.cuon (Q. Nos. 68 and 69) : Select the

combination of numbers so that the letters/
words arranged accordingly will form a

meaningful word.
TLEMNA
®8. 1 23 4 5 6

[A] 264531
B 324651
[C] 435162
ID] 532461
[E] Unattempted

rE LG9 EC
69(2

I
1 3456

[A] 143526
48] 254163
IC] 345126
D] 451236
[E] Unattempted

i8
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_ In which poem does the followin
py Keats occur?

g line
-For ever wilt thou love, and she be fairl
W' Ode to a Nightingale

IB] Hypenon

|C] Ode on a Grecian Um

[D] Ode on Indolence

[E] Unattempted

Who wrote The Harp Of India?
[A] Govind Chunder

i8] Michael Madhusudan Dutt
et Henry L. V. Derozio

D] V.K.Gokak

[E] Unattempted

71

72. Who wrote the poem, Rhapsody on a
Windy Night?
A Yeats (B Spenser
[C] Eliot [D] Housman

[E] Unattempted

Did you come here to buy an umbrella?
Is an example of

[A] first person singular pronoun

[B] possessive pronoun

& adverb of place

] interjection

[E! Unattempted

%, Tick the correct sentence

IA] | am studying Sociology 1 the
Delht Universaty'.

B] 1 am studying Sociology at the
Delht Umiversity.

et 1 Am studying Soci0loR)
University

- at Delhi

' . vinlogy within
D] 1 am studying Socioiofy

Delhi University

Unattempted

.‘.50

19

78S.

IJThis is the book [1 - Pronoun,
tl was looking forl' was looking - Verb

| Whoa-Interjection,
‘amazing - Pronoun

!
I1. Whoa! this is
lamazing

1. My - Noun,
home - Noun,

late - Adjective

My brother come
home late

76.

77.

Which one of the above is correct?
|A] 11 is correct

[B] Il is correct

[C] 1,11 and 1l all are correct

[B] 1is correct

[E] Unattempted

Change the voice of the following
sentence :

When did you buy these books?

1A} When were these books bought by
you?

When was these books bought by
you?

(8]

When had these books been
bought by you?

When are these books bought by
you?

(€l
8]

Unattempted

E]

Change the mode of narration of the
following sentence :

He said, “bmyt him yesterday.”

|Al He said that he had met him the
day before.

[B] He said that he had met him
yesterday.

|C] Hesaud that he met hum yesterday.

(D] He said that he met him the day
before.

IF] Unattempted

| PTO
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78. The correct order of the format of a
formal letter is

(4] yxfder's{ address, date, receiver's
address, , subject, body,
subscription '

[B] subscription, sender’s address,

date, receiver's address, subject,
body

[C] subject, sender’s address, date,
receiver’'s address, subscription,

body
[D] body, sender’s address, date,

receiver's address, subject,
subscription

[E]  Unattempted

79. What is the antonym of the word
‘gregarious’?

|A] Antisocial
18] Glorious
[C] Horrendous
[D] Similar

[E] Unattempted

80. What is the synonym of ‘defer'?
[A] Indifferent  YB] Defy
[C] Differ D] Postpone
[E] Unattempted

81. Pick out the antonym of ‘vanity”,
[A] Humility
1B} Pride
[C] Conceit
[D] Ostentation
[E] Unattempted

82. What is the synonym of ‘pious'?

4] Religion

[B] Sympathetic

IC] Afraid

ID] Faithfu!l

El Unattempted
T-5/5-C
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Directions (Q. Nos. 83 and 84) : R,
extract and answer the two questions

follow :

The glories of our blood and state

Are shadows, not substantial thin

There is no armour against fate:

Decath lays his icy hands on kings;

Sceptre and crown must
Must tumble down,

And in the dust be equal made

With the poor crooked scythe and spadi

83.

R
C m":

84.

The figure of speech in ‘sceptre
crown’ and ‘scythe and spade’ is

[A] personification
[B] irony

[ef alliteration
D] metonymy

[E] Unattempted
:I‘hc word that means ‘a decorated
is

|A] sceptre

[B] crown

[C] scythe

] Spade

[E] Unattempted




PR

on (Q. Nos. 85 and 86) : Read the

;.,nu“'ml"- extract and answer the two

:1-.:5“0"
e Food Bill 1s still in the works but hag

.,_ro\‘o

< that follow :

ked a furious debate on the lack of grain

' orage facilities, rotting of grains and

wh

ether they should be distributed free 1o

pe hungry masscs. Waking up to the fact that
no food security programme can be effective
without proper storage, the Government is
sow planning existing warchousing facilities
and also adding new ones. However, between
tod security and large scale storage, there's
- missing link that needs to be taken note of -
_:orage at the farm level. '

5. A furious debate on the lack of grain

87.

storage facilities has been provoked by
[A] the Food Bill

[B] food security programme

IClL warchousing facilities

D] None of the above

[E] Unattempted

The word in the passage that means
‘ameliorate’ is

iA] decentralise [B] distribute
YC) provoke [D] upgrade

[E] Unattempted

ldentifv the clause in the bold part of
the sentence given below -
The book which has a green cover is

mine.
[A] Noun clause
'-.'ﬁi Adjective clause

!‘-1 Adverb ciause

DY Man clause
F T aanempted

88. Consider the following parts of @
sentence

I. Certain
1. He

. Be

IV. That
V. Is

V1. Will

VII. Late

The correct order of the sentence will
be

[A] LI, 0L IV, V, VI, VI

[B] IV, 11, VI, III, VII, V., |

[C] VI, VILIV, V, I 11, 11

7 VLV, L VL VIL I

|E] Unattempted

Direction (Q. Nos. 89-91) : Fill up the blanks
with the appropriate words given in [A], [B],

IC], [D), |E).
89. 1 have read stories in Hindi but
only in English.

'4A] many, a few
|IB] any, some
IC) alot of, many
[D] some, a few
|E] Unattempted

90. This is first time [ have visited
__ big city.
[A] the, an 485] the.a
IC] the. the ID] a, an

[E] Unattempted

91. Our monthly expenditure ____ by live

hundred rupees when we decided to
buy milk from the milkman.

K] grew up  [B] shot up
[C] gotup [D] lifted up
[F] Unattempted

92. Ram is goIng o create listory
The present perfect form of the above
sentence will be o
M Ram has created history, %
|B] Ram will create history '
iC] Ram has been creating history
![)| Ram wWill be creating history.

IE] Unattempted

a1
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93. Choosc the correct phrasal verb
sentence

L 1 cannot made out the head or tail
of your statement.

II. He made with an accident.
Ill. Control your emotions and move

on in life.

IV. Please sorted out the problem
areas.

I [B] 1

(C] D] IV

[E] Unattempted

Fill up the blank with suitable
preposition given below :

After all, hard work has come to tell
your health.

[A] on

[B] upon

IC] at

{81 None of the above

|[E] Unattempted

Direction (Q. Nos. 95 and 96) : In cach of
the following questions, four alternatives are
given for the idiom/phrase printed in bold at
the question places. Choose the alternative
which best expresses the meaning of the
idiom/phrasc as your answer.

95, The kind old woman received the
stranger with open arms.
[A] With her arms [ree
] With warmth
|C] With restraint
iD] With grautude
[El Unattempted

@ﬁ“'

96. My (nend ran off helter-skelter down
the slope.
4] Unknowingiy
M With minimum speed
Purposcfully
n confusion

4 ol
y ! AT

: _
it furried!y

) I nattennoed

TR TR

Direction (Q. Nos. 97 and 98) : [ |
the following questions, choosc fro,
given words [A], [B], [C], [D], [E| below the 1y,
sentences, that word which has the <,
meaning and can be used 1n the o,
context as the part given in italics /blank
both the sentences.

97. |. Priyva spends her leisure 1,
reading novels,

1. Kamal had a lean body and couje
manage lo squecze into the it
space available.

JAt spare

|B] relaxed

C] free

[D] thin

[E] Unattempted

Avinash was the first suspect in
that case.

II. You are in the
|A] major

[B] suffer

G+ counter

(D] prime

[E} Unattempted

98. I
of life.

Direction (Q. Nos. 99 and 100) : In cach o
the following questions, out of the givos
alternatives, choose the one which can be
substituted for the given words/sentence

99. A person holding a scholarship
university.

Al Intellectual
(B] Pedant
&1 Scholar
[D] Bursar

[El Unattempted

or polish

100. A person without manners
[A] Rustic
B| Naive

I\C| Boorish

71 Barbanan

| E! Unattempted
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